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BOOKLET A

Total time for Booklets A & 8: 1h 30 min

Booklet-A: 18 questions {36 marks)

Note:

1. Do not open the bookiet until you are fold to do so.

2. Read carefully the instructions given at the beginning
of each part of the bookiet.

3. Do not waste time, If the question is too difficult for you,

go on to the next question.

4. Check your answers thoroughiy and maks sure you
afiempt every question.

_ 3. inthis booklet, you should have the following:
a. Page 1toPage 13
b. Questions 1to 18
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For Gluestions 1-fo 18, choose fhe most suitable answer and shade its number
In the OAS provided,

1. The flow chart shows how things are classified.

Things

Does it
reproduce?

Does it move
from one place
to another fo
find food?

Based on the information above, which of the following best represenis a plant,
a coin and a monkey?

Plant - Coin NMonkey
(1} A B C
{2} B A C
(3} B C A
(4) c B A




2. The animals below are grouped according to one common characteristic.

Animat Y

Scaled
~Animal Z

Based on your observations, which one of the following animals does not
belong io the group based on their auter body covering?

)y w

@ x
3 Y
(4)y Z
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3. The classification chart shows how s6me organisnis are classified.

Organism
Can make its own food Cannot make its own food
Able to bear Unable to Growin Grow on
flowers - bear flowers water land
s T 3] ! v i

Which one of the following correctly represents bread mould and fam?

| Bread mould Fern ]
™) 3 v
(2) T v
@) v E:
{4) \' T
—

Which of the following buman systems is incorrectly maiched 1o its function?

System Function
{1} Circulatory Transports waste materials away from the different
parts of the body.
(2) Digestive Transports digested food to all parts of the body.
{3) Respiratory Helps the body to take in and remove air,
{4) Skelatal Supports our body and gives # a shape.
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The diagram below shows a plant.

Which one of the following about the plant parts is correct?

Absorbs water ‘Makes food
) & i K
@ e | B '
(3) B A
{4) D B

Which of the following statements describe the function(s) of the stem?

X:
Y:
Z.

(1)
(2)
3)
(4)

Supports the plant.
Holds the plant firmly to the soil.
Transports water and mineral salts.

Xonly
Xand Z only
Y and Z only
X,YandZ
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7.

Study the human body system befow,

e """\

Which of the following Is correct?

FPatts where Part where solid
digestive juice is waste is passed out
added of the body
(1) A Band C E
{(2) B,.CandD E
(3 A, BandD F
(4} A, CandD F
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8.

Siudy the information below carefully.

Removes carbon dioxide
from the body.

Human
System Z

One of its organs is
-protected by the ribcage.

Which one of the following is also a function of human system Z7

(1} It gives the body a shape.

{2) Tttakes in oxygen into the body.

(3) It removes undigested food from the bedy.
(4} 1 transports water to ail parfs of the _bbdy.
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8. Planis P and G are shows below. it was observed that plant P died afier some
fime but plant Q continued o grow.

Plant P Plant Q
What could be the reason why plant P died afier some fime?

{1} It does not have flowers to make food.

{2} Hdoes not have flowers to reach for suniight.

(3} 1tdoes not have roots to abéom water from fhe soil.
(4} |t does rof have roots to absorb food from the soll,

10. Johin was given fwo rulers made of different materials. He wanted to compare
which ruler was more flexible. Which of the following should he do?

(1) Bend both ruters.

(2} Put both rulers into water,

(3} Shine a torchlight at beth rulers.

{4} Weigh both rufers with a weighing scale.




11, Devi wanted to find oul the amount of light that can pass through four identical
sheets made of different materials, P, Q, R and $. She shane light through the
materals and recorded the resdlts in the table below.

Material Amount of light that passed through (units)
P 5
Q 8
R 2
s 0

Based on the results from the table, Devi made the foliowing statements.
A:  Material S allows no light to pass through.
B: Material Q alfows the least amount of light to pass through.
C: Materal Q allows more light to pass through than Materiai R
D:  Material R aflows more light to pass through than Material S..

Based on the information given, which of the statements are true?

{1} AandBonly
(2) CandDonly
{(3) A,Band Conly
(4) A, CandDgnly
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12. The table below shows the properfies of four materials, A, B, C and D. A fick
{¥) indicates that the material has that propesty.

Based on the table above, which of the materials /s most suitable for making

part X of an umbredla for use on both sunny and rainy days?

(1} Materal A
(2) Material B
(3) Material C
(4) Material D

Materials
Properties A 3 = 5
Strong ¥ + ¥
. Waterproof ¥ V ¥
Ability to float in wafer v ¥
Allows light to pass through ¥ v
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13. Four students, Amy, Bala, Caixia and Danish, made the following statements

14.

about magnets during their lessons.

Amy : Like poles repel, uniike poles attract.

Bala : Like poles attract, uniike poles repei.

Caixia : the magnetic strength of a magnet is greatest at its poles.

Danish  : A'magnet always comes fo rest in the East-West direction
when freely suspended.

Which of the student(s) is/are correct?

(1} Amy only

{2) Bailaonly

(3) Amy and Caixia only

{4} Amy, Caixia and Danish only

Raju used a bar magnet to stroke a stee! nail Jaﬁieﬂme direction repeatedly
as shown below. As a result, the steei nail became a foimporary magnet.

-
- i
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¥
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. —
e - ]
Tt e o ey

Identify pole A and B of me'temporary magnet,

Pole A Pole B
1) south south
(2) south north
(3) north notth
(4} north sourth

10
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15.

18.

Trina stacked four rings as shown below. Two of the Tings are magnets while
the other two are made of magnetic materials. ‘

d PR ETY V
FELLETF .

Which of the two rings, S, T, U and V, are magnets?

(1) SandT
(2} UandVv
(3} SandV
(4} TandU

A compass has a small magnet that can rotate freely as shown.

north pole of
small magnet

compass

Two bar magnhets were amranged such that they were repelling each other, A
compass was then placed near pole X of one of the bar magnets. The direction
of the compass needle is as shown befow.

>
«

@x R

bar magnet bar magnet

What would be the direction of the neadle when the compass was placed af
position Y7

(1) @ 2 @ @ @ @ @

11
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17. Three bar magnets, AB, CD and EF, are afranged as shown below.

A Blg

When the bar magnets are rearanged, which one of the following
arrangements of the magnets is not possible?

" [E Fle @[5 El p
BlA B A Bl C
3 Ia BlD @ |y
CE F C
F E
A B8

12
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18. Ken tried o magnetise three identical rods A, B and C, using tee electrical
method. He used a differant number of batteries in the set-up for asch rod. He
used the three rods o attract iron pins and recorded his results in $e table as

shown below.
Number of iron pins atiracted
Number of coils
of wire around Rod A Rod B Rod C
the rod
10 2 g 5]
20 3 12 8
40 4 14 11

Which of the following siatements is correct?

(1) The set-up for rod A has the most number of batteries.

(2) The set-up for rod B has the most number of batterias.

(3} The set-up for rod B has less batferies than the set-up for rod C.
{4} The set-up for rod A has more batteries than the set-up for rod C.

END OF BOOKLET A
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Answer all questions in the space provided.

19. Ali observed three living things, A, B and C, in the school garden and recorded
their characteristics in the table below. A tick {V) indicates that the living thing

has that characteristic.
' ” Living things
Characteristics A B c
Reproduces by spores v
Needs air fo survive Y ¥ v
~ Needs sunlight to make food ¥

{a) Complete the table below by matching the living thing fo the comrect istter,

A, BorC, (2m)

Living things

Lelter

14
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19. Melody placed two similar oranges in two identical confainers, X and Y. She
placed the confainers i the same room.

container X . container'Y

dry coiton wnclt

orange c ; orange

(b} - In which container, X or Y, would mould first grow on the orange? (1m)

wet cotion wool

(c) Explain your answer for patt (b). (1m)

15




20. Sii set up the following experiment to find out if the ntmber of roots affect the
amount of water absorbed by a plant. She recorded the amount of water left in
the beaker over five days in a table shown below.

tayer of .
oil

Amount of water left in the beaker {ml)
Day 1 Day 3 Day 5
Set-up A 400 - 330 240
Set-up B 400 380 365

(a) Gompare the amount of water left in set-up A and B on day 5. (1m)

{b) What can Siti conclude from the experiment on day 37 (1m)

(c} Based onihe experiment, tick the variable(s) that must be kaptthe same to
conduct a fair test. (1m)

Variable _ Tick the variable to be kepf the
same (v}
Location to place set-up A and B,
Water left in the beaker at the end
of the experment.
Type of plant used.

16 3
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21. {a) Read the statements about the human. digestive system earefully. Write T’

for tue or ‘F for false for each staternent. (Zm)

Statements

TiF

Digestion starts in the stomach.

intestine.

Digestion does not fake place in the large

swailow.

Saliva makes the food soft so that it is easy to

io all parts of the body.

Digested food is passed through the walls of
the large intestine Into the bleod and is carried

{b) Ahmad classified the paris of the human digestive system as shown below.

Digestive system
P |
Group A Group B
Mouth Gullet
Stomach Large irdestine

Provide a suitable heading for group A and B. {1my)

Group A:

Group B:

17
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22. Select only the comect parls from the list below and match them fo the comrect

human system. {2m)

heart lungs skufl
windpipe rib 'mJ_ge _ blood vessels -
Circulatory System Respiratory S

18
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23. Xiao Ming made three similar bags, A, B and C, using differem matéﬁais. The
table below shows some of the properfies of the bags. A tick (¥ indicates that the

bag has that property.
Properties of the material of the bag Bags
- . A B C
itis shrong. ¥ ) .
H s flaxible. ¥ ¥ ¥
It is waterproof. __ v
ft sinks in water. ¥ 4

(233 Xiae; Ming needs to canry heavy books to school. Based on the table,
which bag, A, B or C, Is the least suitable? Explain the answer. (1m)

(a)(ii) Based on the table, how is the material for bag A simifar to the material for

bag C7 {Tm}

18
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" 23. Mary conducted an -éxperiment to find out which material, W, X, Y or Z, ismost
suitable to be made into a bath towel. The materals used iIn the experiment were
of the same shape, size and thickness.

—“+—pois -
plastic.
cortainer beginning
water
red level
coloured

After ten minutes, the red-coloured water had travelled up each material as
shown in the diagram.

{b){i) Which material, W, X, Y or Z, is most suitable for Mary to make into abath -
towel? (1m)

{bX#) Explain your answer for part (b){i). {1m)




24. Danny had four magnets, A, B, C and D, of the same size and shape. He placed
a paper clip at point X. He kept moving each magnet towards the paper clip until
the paper clip was attracted to the magnet. He measured the distance {d} at
which the magnet was able to atiract the paper clip.

d
magnet je—— - g f
. ‘ X
paper clip of paper clip

He recorded his results in the table shown below.

Magnet Distance (d) in cn
- .
B Z
C 12
D 4

(a) Based on the information given, arrange the magnets in order of their
magnefic strength, from the least to the most magnetic strength. (1m}

(b} Give an example of a material that can be used fo make the paper clip for
the experiment to work. {tm}

21
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25. An experiment was conducted using the set-up shown to find dut which magnef
has the greatest magnetic strength. The experiment was repeated with magnets
BandC.

The results of the experiment are shown below.

Number of paper

clips atfracted
A

7
6

3

» Magnet

A B C

{(a) Whatcanbeconchﬂedabodmenmgneﬁemngﬁwfmagnetcﬁnm
this exgeriment? (1m)

b} Will the experiment work If the paper clips were replaced with copper
pins? Explain. {(1m)

{c) Based on the diagram, how can the iength of the string be changed so
' thal magnet A can atfract more paper clips? (Do not cut the string) (1m)
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26, Ramii set up the experiment as shown below.

Set-up A Set-up B

20 coils of wire around iren bar X 20 coiis of wire aroe;nd ron bary

He lowered fhe iron bars, X and Y, into a tray of stee! pins and counted the
riumber of steel pins attracted by each bar. The table below shows the resuits.’

ron bar Number of steel
pins atfracted
b 4 4
Y g

{#) Based on the information given, state the relationship between the
number of batteries used and the wmagnefic strength of the
electromagnst. (1)

{b} Without changing the number of batleries, what can be done to the parts
in set-up A to enable fron bar X to pick up more steel pins? (1m)

] What will happen to both #on bars X and Y when the batteries are
removed in set-ups A and BY (1m}

END OF BOOKLET B
PLEASE CHECK YOUR WORK
23 3
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Y

K

Q19

(a)

(b) | ContainerY.

grows in damp places.

(c) | Mould needs water to continue growing therefore it
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Q20

(a)

The amount of water left in set-up A was 125ml
lesser than set-up B on day 5.

(b)

She can conclude that plants that have more roots
can absorb more water.

(c)

Location to place set-up Aand B. v

Type of plant used. -V

Q21

(a)

Mm S 4 ™

(b)

Group A : Digestion takes place
Group B : Digestion does not take place

Q22

Circulatory System

Respiratory System

Blood vessels Windpipe

Heart Lungs

Q23

(a)

(b)

(i)Bag B,as it is not strong to carry the heavy boots.
(i i)both bags A and C are strong and flexible.

(i)Material W -

(i i)Material W,as it absorbs the most water and the .

purpose of the towel is to absorb water on your
body-




Q24

(a)

B,D,AC

(b)

Steel paper clips .

Q25

(a)

Magnet C.has the most magnetic strength.

(b)

No, copper pins are not magnetic and it did not get
attracted.

(c)

The length of the string can be changed by adding
more strings so that magnet A will be nearer to the
paper clips.

Q26

(a)

As the number of paper clips increases, the
magnetic strength of the magnet increases.

(b)

Add the number of coils of wire around or increase
the thickness of the iron bar.
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(c)

Both iron bars will lose its magnetism.




BP-700



